AFLEERRE

m H F 5 ErEil 3 FE % = — A% B BX

AW Y H 2 INBVE AR T (B—3#Rk) (TR s # B

B T & KEHT EIR N

B . B B T 3 &# 7 A 29 H "neE 0%

A #oABm R R HE AL

AL R UGSEALER 5120000 M (FiiRZ) 97.34 9%

2% BTl A& (Fad) 5,786,000 )1 il 4% (B3R &) 5,260,000 [

F E il 4 (Fd) 5,786,000 AFLE LB (BiikE) 5,260,000 M

AALE ___MBRGHES) B iz s

F1[ F2[H] 3

(BEVIRE 5,250,000 3

FWOoms 5,120,000 1 &L

BINEIGE) 5,460,000 =5 (F E M EA)

ZERTEE®) 5,220,000 2




AFLEERRE

m H F 5 ErEil 3 FE % = — A% B BX

ALY KB A LEDAYRS Ak

B 17 B P KEHT EIR N

B . B B T 3 &# 7 A 29 H "neE 0%

A #oABm R R HE AL

AL R UGSEALER 697,500 M (FBiiR=E) 41.90 9%

2% BTl A& (Fad) 1,831,170 H )1 il 4% (B3R &) 1,664,700 M

F E il 4 (Fd) 1,831,170 M AFLE LB (BiikE) 1,664,700 /M
AALE ___MBRGHES) B iz s

F1[ F2[H] 3

(BEVIRE 1,116,000 2

EWOEs 697,500 1 &L

BINEIGE) 1,122,200 3

ZERTEE®) R

ILTFBEK A TF R iR

(BR)FUAh 1,346,950

AP B

TR




